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N & o & AF & H Al A
2 A H
FE: X Ayl
& FURX CEE-ED
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
e 473,775 491,886 218,111
T AL ZHI 336,799 351,710 A 14,911
S DNPN| 35,581 41,210 A5,629
FOURMXNEEH 29 35,581 41,210 A5,629
201 L2l 20,735 22,880 N2,145
03 A2 Z Hl 20,735 22,880 A2,145
OFURXIME 25 A<
65,000 * 29 = 112 % 20,735 22,880 A2,145
301 LEBEAS 10,796 14,280 N 3,484
12 JIEHB &2 10,796 14,280 ~3,484
OFUXNXAAS 3o&s g
30,000& = 259 = 8& 6,000 9,000 A 3,000
OFOURNXMEH KNASAL 242
11,0003 = 28 » 218 4,796 5,280 A484
Fo=HA 253,457 262,715 AN9,258
LHHFRE 65,857 73,115 NT,258
201 LB-2E| 53,494 52,915 579
01 At 22l 28,836 27,257 1,579
O HA 82X dxtg
277.68 = 267,800 * 25/1,000 » 310/365 1,579 0 1,579
03 A2 Z Hl 0 1,000 A 1,000
OSHsS2 A9YE nxastl 0 1,000 A 1,000
202 oddl 163 8,000 AT,837
01 = LH o4 1l 163 8,000 AT,837
OZHAZSE LRI 163 8,000 AT,837
FoEgs2H 187,600 189,600 A 2,000
301 LA F 184,800 185,800 A 1,000
09 SALEHIX RS 0 1,000 A 1,000
OSH=s #%9E R8s FIA B4 0 1,000 A 1,000
302 Ol THoH E&F = 1,000 2,000 A 1,000
02 QIZHITHOH R EFR &S 2N = 1,000 2,000 A 1,000
OZ40l, &2 S MASFEIIFAU 242
10,0002 * 100 1,000 2,000 A 1,000
KSR ITA 47,761 47,785 A24
NHIFRIA 47,761 47,785 A24
206 M= Hl 2,976 3,000 A24
01 =8l 2,976 3,000 A24
Oxzd 224 Ha+d 2,976 3,000 AN24
HY2F AL (HH) 74,476 77,676 A 3,200
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FM: HH2IZH (X H)
& 123l (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
Jl= &l 74,476 77,676 A 3,200
Jl=dl 74,476 77,676 A 3,200
202 04l 10,240 13,440 A 3,200
01 = LH 4 HI 10,240 13,440 A 3,200
OJIeg =80l 10,240 13,440 A 3,200




